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Questionl:-India borrowed the idea of the rule of law from the constitution of
A:-lreland
B:-Britain
C:-Canada
D:-Germany
Correct Answer:- Option-B

Question2:-Which of the following statements is/are correct regarding the right to
freedom of religion

(i) Right to profess and propagate any religion

(ii) This freedom is given through Article 29-30

(iii) It prohibits discrimination on the grounds of religion
(iv) Right to freedom of conscience and profession

A:-(i), (ii) and (iii)

B:-(i) and (iii)

C:-(i) and (iv)

D:-All of the above

Correct Answer:- Option-C
Question3:-The constituent assembly was formed on the basis of the proposals of

A:-Cripps mission

B:-Cabinet Mission

C:-Wavell plan

D:-Mountbatten plan

Correct Answer:- Option-B

Question4:-Name the writ which is issued by the Supreme Court or a High court to
an inferior court if it goes beyond its jurisdiction in a case

A:-Prohibiton
B:-Mandamus
C:-Quo-Warranto
D:-Certiorari

Correct Answer:- Option-A



Question5:-Which among the following pair is wrongly matched
A:-Banking - Union list
B:-Forests - State list
C:-Education - Concurrent list
D:-Cyberlaws - Residuary powers
Correct Answer:- Option-B
Question6:-The Article which deals with the amendment of our constitution?
A:-Article 367
B:-Article 365
C:-Article 368
D:-Article 364
Correct Answer:- Option-C
Question7:-The book 'Akhila Thiruttu' was written by
A:-Vaikunda Swamikal
B:-Brahmananda Sivayoqi
C:-Vaikunda Swamikal
D:-Vaghbhatananda
Correct Answer:- Option-A

Question8:-Name the organisation that was founded on the model of the servants
of India Society of Gopala Krishna Gokhale

A:-SNDP

B:-NSS

C:-Yoga-Kshema Sabha

D:-Sahodara Sangham

Correct Answer:- Option-B
Question9:-The CMS press in Kottayam was established by

A:-Arnos Patiri

B:-Rev. Mead

C:-Benjamin Bailey

D:-Rev. Richard Collins

Correct Answer:- Option-C

Question10:-Who among the following translated Shakespear's 'Tanning of the
Shrew' into Malayalam

A:-N. Krishna Pillai
B:-K. Damodaran

C:-Kandathil varghese Mappila



D:-E.V. Krishna Pillai
Correct Answer:- Option-C

Questionl1:-Match the following :
(@) Viswarupam (i) K.C. Kesava Pillai

(b) Lila (ii)  Vallathol
(c) Kesaviyam (iii) Kumaran Asan
(d) Kochusita (iv) V.C. Balakrishna Panikkar

Select the correct answer from the codes given below:
A:-(a)-(iv), (b)-(iii), (c)-(i), (d)-(ii)
B:-(a)-(i), (b)-(ii), (c)-(iii), (d)-(iv)
C:-(a)-(iii), (b)-(iv), (c)-(ii), (d)-(i)
D:-(a)-(ii), (b)-(i), (c)-(iv), (d)-(iii)
Correct Answer:- Option-A

Question12:-Name the commission that was setup to look into the centre-state
relations.

A:-Balwant Rai Commission
B:-Sarkaria Commission
C:-Kasturirangan Commission
D:-Jeevan Reddy Commission
Correct Answer:- Option-B
Questionl3:-The winner of the 2022 Booker Prize
A:-Shehan Karunatilaka
B:-Salman Rushdie
C:-Maddie Mortimer
D:-Alan Garner
Correct Answer:- Option-A

Questionl4:-Name the peasant movement that paved the way for the right to
information Act in India.

A:-Dalit Panthers

B:-Bharatiya Kisan Union

C:-Mazdoor Kisan Shakti Sangathan

D:-Shetkari Sangathana

Correct Answer:- Option-C
Questionl5:-Hermann Gundert was a member of

A:-London Mission Society

B:-Basel Evangelical Mission

C:-Salvation Army

D:-Church Mission Society



Correct Answer:- Option-B

Questionl16:-Help provided by the teacher to the learners to move beyond their
current level of understanding is known as

A:-Cognition
B:-Scaffolding
C:-Motivation
D:-Inspiration
Correct Answer:- Option-B
Questionl7:-Advance organizer model of teaching was propounded by
A:-Howard Gardner
B:-Alfred Binet
C:-David Ausubel
D:-Jean Piaget
Correct Answer:- Option-C
Question18:-Heuristic method helps to develop among students the attitude of
A:-Drill and practice
B:-Silent listening
C:-Discovery
D:-Rote memorisation
Correct Answer:- Option-C
Question19:-The term micro-teaching was first introduced by
A:-D.D. Tiwari
B:-John Hattie
C:-Robert N. Bush
D:-Dwight W. Allen
Correct Answer:- Option-D

Question20:-Who among the following has not involved in developing the
classification system of the three domains referred to as Bloom's taxonomy

A:-A.S. Neill
B:-E. Furst
C:-W. Hill
D:-M. Engle Hart
Correct Answer:- Option-A
Question21:-5-{i &nen SNES B od @adFOR® (infimum) 2507
A:-1
B:-i



C:-2
D:-%3) 03003y8s0 99

Correct Answer:- Option-B

Question22:-3$NIJH)n¥Y adreh)iso «ed8 (countable) SiemEwBOwma Xe3° e3NTS?

JARRIN

B:-(0, 1)

C:-r<r

D:-93) 03003)B S0 ©9Q

Correct Answer:- Option-A
Question23:-j@)=x2-32+5 TIOIER) ézw&@doﬁ mcgosd 0300R)BO?

A:-[3)

Bi+(~co]

Ci-[-4]

D:-953) 03003y s0 ©9€)

Correct Answer:- Option-A

Question24:-3¢¥N 0does BedBried 3 BeddodNLs?
(i) DY 200D BVOTROND 2eQIToNS

(i) g Becseelneds® RIFEIN w0DHNCOZS
(iii) Do 23P0TE* TVIFEOMLD 2,30DZNCOZT

A:-(i) o3 (ii)

B:-(i) &3 (iii)

C:-(ii) 03> (iii)

D:-(i) =358,

Correct Answer:- Option-C
Question25:-3¥NTI)NFY 0dn[ro YT x0edodeNts?

Ak

Bi-Y

C:-2%

D:-93)n¥e) cdmgne g

Correct Answer:- Option-A
Question26:-0300x3)@0 (1-i)¢ 1} AR0?

A-1-3;

B:-113:



Ci-—4
D:-4
Correct Answer:- Option-C
Question27:-3$NIHNYY adsesd)iso Qé’ogﬁmgﬁdtm)d T030€ INTS?

A:-e
B:-sinz
Ci-iz2
D:-coshz
Correct Answer:- Option-C
Question28:-24.(%)"—; 2080 AR Perags ZeTes TR 0> RN DR?

A:-2,1

B:-3, 2

C:-3,1

D:-2, 3

Correct Answer:- Option-A

Question29:-vis-zdy=0 z,:?emgﬁ ACTO RS (Integrating factor) D3e30¢00 9035002300007

A:-4

B:-»

Correct Answer:- Option-D
Question30:-24 42y ,4% =g DY 3BT ) BT Seadrivdd B3PI

dz
A:-c1+(czx+c3)e2x
t=cieftc,ret+cqaelT
B:-a 2 3€?
t=(ctcyT)e2r +cge”
Ci-(e1+eq7) 3

D:-9) 030038/ ©9e)

Correct Answer:- Option-A
Question31:-0300x @emgﬁ AAICTT €93) BCT 6@33r1@e’§3 (Straight line)@ 309387

. _d?
.'J—cx

do? ™
. _d?
B.'%:O
dr

. d
C.'yﬁ:Z

D:-2:3)n¥® adogite g

Correct Answer:- Option-B
Question32:-2,0030 5®@ Fedesodd (Diagonal) S0 903E FVBEIDT Fees 0dI0)E07?



A:-cosi( )

B:-45¢9

C:-602

D:-93)n¥e) cdmgne g

Correct Answer:- Option-A
Question33:-=si+j+:% SNGT, div 7 a§o?

A:-0

B:-/zzrvzt22

C:-1

D:-a3)i¥e) odmegBme g

Correct Answer:- Option-D
Question34:-'C' 2020030 Y i} 335000030 6@3301)3?@6 /f(x,y)dzz

A:-1

B:-—1

C:-0

D:-a3)i¥e) odr3Be g

Correct Answer:- Option-C
Question35:-Bezoen® 3PN HWe Doronyd f(z):{ﬁ*?f”;f?l ga0doe) (function)

a52+bs;5<1

0 030TINGT B SYNBH)NE 03RB FO0IATI?

Ai-atb=1
B:i-ato=2
C:-a+b>0
D:-atb=0
Correct Answer:- Option-B

Question36:-, - tan15ty esﬁgd, s34+y5E © ab’ag a§o?

=y

A: -2tanu
B —tan2u
C:-sin2u

D:-93)n¥e) cdmne g

Correct Answer:- Option-C
Question37:-88 3$NIIHNFY 03030 533)?

() Lo

(i) e, oi==0




(i) ZtiseBE=0
A:-(ii) S58,
B:-(i) S598,
C:-(ii) 03> (iii)
D:-(i) &3> (iii)
Correct Answer:- Option-A

Question38:-]]fex+y+zazmydz -

Ai-e-1?
B:-es
C:-e
Di-es1
Correct Answer:- Option-A
Question39:-5+3=1 8NCOZN DeprRZa (ellipse) Desrr HFO?
A:-r2q22
B:-ab
C:-rab
D:-1
Correct Answer:- Option-C
Question40:-v2-ss—6y—23=0 FAICTO I 1YP° a)aigb S30PR0ZT?

A:-maom&/aeem
B:-:D@ai,
C:-zznceen
D:-93)n¥e) cdmgBe g
Correct Answer:- Option-A
Question41:-7md$:
A:-
B:-
C:-3
D:-al)i¥e) odmo3@se g

Correct Answer:- Option-A

Questiond2:-s7+viz-3=0 SNGFT £ HFO?



. 2442
Aozt
w —3r2442
B:-=o
C._—3172—y2

2zy

D:-a3)i¥e) odmedEse g

Correct Answer:- Option-C
Question43:-4116 ©03n¥ 3,03 a;-’éo?

A:-11200

B:-171

C:-1710

D:-a3)n¥e) odmgBe g

Correct Answer:- Option-A
Question44:- phisoo & 23¢3 chf_"cj\O?

A:-499

B:-45

C:-396

D:-200

Correct Answer:- Option-D
Question45:-;uw e9§b 17 903 NN e chg—'élO?

A:-16

B:-zero

C:-1

D:-a3)i¥e) odoogBe g

Correct Answer:- Option-C
Question46:-4=[%1] 8NGT, 4"~; Bo3% w37 HeIEOd Foaf cdFHBo?
A:-1
B:-2
C:-4
D:-6
Correct Answer:- Option-D
Questiond7:-Bngsgf 4=[114] S Srse® (eigen) SPgried odnI)?

A:-(1, 2, 3)
B:-(2, 2, 2)
C:-(-2-2-2)



D:-a3)i¥e) cdmgBe g

Correct Answer:- Option-A

|

NGB A B Qgor 03T 0309F)BO?

r:
0
02
2
1
0
0

Question48:-A=[

[l enen] N Ten}
—HOOOON

00
10
01
02
20
00

NOOOOH

A:-0

B:--9

C:--27

D:-1

Correct Answer:- Option-C
Question49:-5=[}1 2] 900s IRese* B Fees HR0?

10
A:-3
B:-2
C:-1
D:-93)n¥e) odmgme g

Correct Answer:- Option-B
Question50:-'A" 2,080 sieceiacse® SRE3E 8sNG3 |A|
A:-+1
B:-0
Ci-x2
D:-2:3)n¥d adoogite g

Correct Answer:- Option-A
Question51:-2,080 23803306 %3 3Y F0B1 WHAIW 39 5 FEITRYINGT TT evg ag}o?

A:-5

B:-sv3

C:-2¢

D:-5v

Correct Answer:- Option-C

Question52:-z4-3s3+4x2—62+7 eagb WBIDBRAOW (z-1) PNAWIN 3R 0350:3)B07

A:-3

B:-21

C:-6



D:-a3)i¥e) cdmgBe g

Correct Answer:- Option-A
Question53:'Sin_l(z)+cos*1(z) w 236 (‘D;’gj{\)?

A:-r
B:-2r
C:-2
D:-0
Correct Answer:- Option-C
Question54:- ) =vz2—5z76 B0 (function) c&rad%as 0300x3)30?

A:-r

B:-[2, 3]

C:-(=e0,2]u[3,00)

D:-(~c0,2)u(3,00)

Correct Answer:- Option-C

Question55:-j@ =z RBOJ) g ==3+1 Eﬂﬁgd, o F(4) cbq_"c.}o?

A:-9

B:-vss

C:-18

D:-a3)i¥e) odmo3Be g

Correct Answer:- Option-A
Question56:-3¥NSIH)NYY 03I0ZBO cos20 B 233 9L

A:-cos26-sin%e

B:-sin26—cos2s

C:-1-2sin%

D:-2cos26-1

Correct Answer:- Option-B
Question57:-[77%] =

A:-1

B:-zero

Ci-—

D:-93)n¥e) cdmgme g

Correct Answer:- Option-A

Question58:-8030)meduecon (conic) HFeoR0LZ0d (F0g32e3)adon 0.056 &NGT e
ESEIVARS) AV



A:-mgoaﬁfaeem
B:-29x°
~N

C:-%ﬁz&mes'oa

D:-3

Correct Answer:- Option-B
Question59:-'C' 0B 121=5 NPT, f%dz:

A:'Zm

B:-m

C:-zero

D:-a3)i¥e) odvod@se g

Correct Answer:- Option-C
Question60:-3$NTHNYY adreBo d) Xe3® (empty set) esNes?

A:-{zizeN3<s<4}

B:'{ZEZIEEIN,SEQZ:E}

C:-{:c:xél}\l,:cz—‘lzo}

D:-{z::cehxl)erl:O}

Correct Answer:- Option-D

Question61:-83 100 Jmepenidnt $8 S0egady F0aRD ©03ried 55, 88 HL WosnYIy SR
30 DmePe e 309z 03rieh 70 S0P TBL osNYIO JWE 30 IR MY 0D o3risd 30

eﬂgd VYR éf)m?@mv 20920 903N @5\0?

A:-55
B:-62.5
C:-65
D:-57.5

Correct Answer:- Option-B

Question62:-B$cdodnye® 3%06@305 df’a%mee’o 0,1, 2,...... N. OJYNY BST3FTVR) TN

nCo,nC,nCy,..nCp,
A:-%
B:-
C:-2
D:-gn-t

)

Correct Answer:- Option-A

Question63:-§§ne§3 DOV 2 BRI D3THO3ID m}%ﬁ)wﬁ‘ (Platykurtic) Bﬁgd, 43¢

Feon T BT dRV?
[\ S e



A:->16
B:->64
C:-<48
D:-<64
Correct Answer:- Option-C
Question64:-Qe&80x Soéid@e@ws"‘ FT0, B8 FINBIHNYY 0350Z)30 30—-’%?

1

Eill

>x

A:-QoeBodn® > ot
B:-doep® > doedodon®
C:-Sew® >oend
D:-3sci® > Qoeidodond

Correct Answer:- Option-B

Question65:-1 dor 25 STt MOBL3ReE £35¢3° YD Qi)acie)zi)ﬁmﬁ Y e35e3° m,fgo D)
S30BWT, 2 D 3 3093@;‘%@3 3030, BRBIS WSTT aﬁo?

D:-%
Correct Answer:- Option-D
Question66:-233Y) @ 0dseedzO= 40 mge: X09R0 B03oz0 16. FoBTO® S03F FeDABT, 500
SO WO JRE £z&aum§d. BINGT TOBTO® 03RO cbf’g\o?
A:-51
B:-56
C:-57
D:-61
Correct Answer:- Option-C
Question67:-1 908 13 I3NS edF0dd 30&3@@@53383 QWO (S.D) ag—-’go?
A:-14
B:-7
Ci-vm
D:-m

Correct Answer:- Option-C



Question68:-r(s)=04 rlaur) =07 030 P(B/A)=0.5 z03=30eadodnedsy dedeonas, P(A)5o
BorEO&EBOWD.

A:-0.6

B:-0.5

C:-0.4

D:-0.7

Correct Answer:- Option-A
Question69:-2,0630 eROBY 50% %TTY A RFFoIT) 230393, 40% w00 B K§F0domH
230898 R0 30% 280 C a-’@éodgﬁb 430393, A, B ?@%nefgo BOSS3 30%, A, C
Q’g%ﬁeﬁb WBOTS00 20% =03 B, C —-@ﬁmfga W00 10%. &8 enedIY Ze. 25 0% wd o8
0doos u—-’@smfgm WBOR)DY D0TAET, =0T S *J@s“rﬁ@gﬂo A, B, C a3 3e3@Eo WS WBOSIT?

A:-25%

B:-10%

C:-20%

D:-15%

Correct Answer:- Option-D
Question70:-3 @agried weor®) w080 oY) OB WINYP> H BRORTOZT. &3 e o

2,003 D8P 03 23550N 23 T 2300 FTT, AeF) T 22D HF SEET BNCOI
B0zIBAe0d T3 RCLIHINCOITS

C:-]

Correct Answer:- Option-B
Question71:-2,000 SRy 30% BIBOTMCO S030 70 % MQﬁOJJGQJ W¥P0RCLZT. 5%
BIBONMCL 2030 10 % BXBEON0IIT HDeFo REFOILY &, 3¢ ITWEOL. &8 IBNS0OT mmwga
8:805% S0BBT, &8 SN  [jeE® BBoIRN $02IBAeadd3

A:-0.085

B:-0.065

C:-0.075

D:-0.15

Correct Answer:- Option-A

Question72:-2,0830 o) 30 Fog), 20 BT 03 10 Jed zSozsomfgo BH0RCLZT. Weoo
zSocs’ib 3iROBR0EY zoesgwﬁb BoDDZUNIZR F03) &0300NKSNRIZT. 'adgb ST 2390
SNRRET S 50BN é:)ng 2 PRYINIS F0PBe0dds.



&l

oo w>

-

Correct Answer:- Option-C
Question73:-no@ S0 B0E3 wotse BF0IY 0B 9398 BIFNL FowBe I, HL0MIIT.
d% esoi%oi)acs 2/7 0D IS eaaizpdjaw 1/4 502330308 98, )T uzzb)dﬁb 3508 eao&%
SINBEOR B0PIAC0d03
s 17

B:-4

Correct Answer:- Option-B

Question74:- s =csrer0<s<c0 WORY FOLISBVCOI FoSeBW™wa8ee (pdf) ﬁaodormﬁgd '¢'®
m’a%) a;-’egxo?

D:-4

Correct Answer:- Option-D
Question75:-1ig0s 5033=30¢03030300 0.7 &NBLS 503300303030 DITE03D ga'a?jﬂa')‘em?

A:-0.21

B:-0.3

C:-vom

D:-0.49

Correct Answer:- Option-A
Question76:-035a 235 Sedodef X® 300m0000 3 NG T 030 ?3@5@ 2 8NgT, #l(z+2]
@§07

A:-11

B:-27

C:-23

D:-13

Correct Answer:- Option-B
Question77:-X 2,085 035063285 SeDOOE NG T [ x-r(x]* BSAPRIZBO

(i) Var (x)
(ii) M.D. (x)



(iii) 23e ,oogdp‘ BSD0E3E

A:-(i), (ii)
B:-(i), (iii)
C:-(i) 598,
D:-(i), (ii), (iii)
Correct Answer:- Option-B

Question78:-5(x)5(x?),5(%) FZNYINCIR 035983237 [eD0dRIO® X B0 0dre BedFTied
QBINTS?

(i) BB

(i) 2(%)<stm

(iii) B>

[=(x)]
A-(i) I3

B:-(i) =03 (ii)
C:-(i), (ii), (iii)
D:-(i) =03 (iii)
Correct Answer:- Option-D
Question79:-X, Y oimq)ziﬁ eazgrﬁeeaﬂgd 8% IYNTIHNYY 0o adieeneve AzDaNCOZE?

A:-B(xY)=E(X)BE(Y)
B:-p(Z)=£%

BY)

C:-B(X+Y)=E(X)+E(Y)

- (X):7[17F(Z)]dx

Correct Answer:- Option-C
Question80:-1 00w 25 OIVNS ©oe3d £38e3° Yo 5 5033251@’5*53 oimq)z%)ﬁmﬂ 830506
RIB©NOZW. HTWE 3035JW mgsgp 035903 235 3eD0d©f 3N SriBOBROBT, BT FTRO SO
?3@5 ‘D§O?

A:-65130

B:-62552

Ci-652

D _501300

Correct Answer:- Option-A



Question81:-330g, 0353 u8E WATNYE X 0P y BROFFPN Z0oRD 10 S0P 20, F39s 3
S0 4 e9§b G0l o RERETRN ?3‘2{5 (variance) 3es0?

A:-340

B:-100

C:-84

D:-91

Correct Answer:- Option-C
Question82:-X~B (1}) , Y~B (24) 8NJT r(x+v=2)=1

A:-%

P2l
+ 128

C:-&

o2l
" 64

Correct Answer:- Option-B
Question83:-X~B (u}) s8NZ3, X 3003 8 FLNT BePINYY 030o30 Aes?

(i) P(x=3)=pP(x=4)

(ii) X oBR m%wef mfgo BPODT
(i) vix)=2

A:-(i), (ii)

B:-(ii), (iii)

C:-(iii) =098,

D:-(i), (ii), (iii) oo

Correct Answer:- Option-D

Question84:-0b3q)z§§ Sedodrvers X :pcgosddg? (1,21) es0ds503 &Wﬁabaﬁgd X3
AoeBo™®

A:-10

B:-21

C:-11

D:-10.5

Correct Answer:- Option-C
Question85:-B3e:80083° wBTee3ont Hogn® (Myf) zorié? FYNVIHNLD 0doF)Bo es?
(i) mgf AZFACHT 0d5er 285 3eD0IRIO® dge FEFHO BPOLTIZH
(ii) odoacse)z%)ﬁ Sedodef 1} B8 Fo0900830° © Fearied ea_?ggdg?s mgf@ﬁb 2083033
(iii) mgf w00 :)36%03\@{53 &é§5®o WalZervring

A:-(i), (ii), (i) e

B:-(i) %8,



C:-(i), (iii)
D:-(iii) S508,

Correct Answer:- Option-D

Question86:-P (X =1) = 4 P(X = 3) + 40 P (X = 5) ©Q m20don° Jedodwwe® 3 %33%'3

A:-1
B:-»
C:-2
D:-

Correct Answer:- Option-A

Question87:-ju) = Lot o © STF030DT §30§ D0 XX, SBT3, x1+2X, DITT?

A:-N (0, 20)
B:-N (1, 12)
C:-N (1, 20)
D:-N (0, 12)

Correct Answer:- Option-C

Question88:-2.0E0 3ondodd mgv 20030 1Q 90 sNgT S0 FBedd yonxy) 15 sNgJ, aq—-’go
BCTE mg% 60 dow 120 T Jwo=so 1Q &ao&doagd’?

A:-68.26
B:-95.44
C:-99.73
D:-94.54

Correct Answer:- Option-B

Question89:-X &3> Y § F39ad) xezoN 4 S0P 9 6NE3 P Y SEIT SOZ0
230085) 0.4 SNZT cou(xy)= ?

A:-14.4
B:-12
C:-2.4
D:-3.6

Correct Answer:- Option-C

Question90:-SRS Jpex3om 100 dag’@ocﬁ 10 53?%" maod@a €303, BB F0LIBIC0dI

A:-L
B . _10016'10

C:-3,



D:-#
Correct Answer:- Option-B
Question91:-330° FeR0w® IJ0RE 0B NOW FENT 0309 9OTITITITTO 6063’0200&@36?
A:-BZDo3IYT
B:-?\g
C:-30a ga'%‘s
D:-msg}o (Sufficient)
Correct Answer:- Option-D
Question92:-t ®00EY ¢ OB 6&)ﬁ§oé36 DAROCEIT® BT, B8 FFNTVHNYY 0330 V%7
A-2 200330 5 BQ ATHNCOZT
B:-: 2020060 ¢ BQ ATeNCZE
Ci-22 D00B) ¢ IQ ATHNCOZH
D:-93)n¥e) cdngne g
Correct Answer:- Option-A
Question93:-x.xs..xn B 3303 N(01) BeDORIES N, 5=3 1 SNGT S § Soee?
A:-8
B:-9
C:-10
D:-6
Correct Answer:- Option-A

Question94:-35a@ Dok MegD) C‘S’Jagcmﬁdmrﬁ (>30) Q{’z%o@‘-’ow“t 03 0o %%o@o—-m WOR)
(tend) 30003057

A:--5e0°
&3
B:-F
C:-mo0300°
D:-30¢8
Correct Answer:- Option-C
Question95:-x,x,x;...x. ) 3808 N(0,1) Sedodrwer neaNgd ifg S mgf o3?

Ai-_ani
B:i-_2977
C:-(-3)"
D:-1-2t



Correct Answer:- Option-B
Question96:-U~F(9, n) 8Ngd -~ V = 9F & D303 cb;-’éo?

A:-y*a)

B:-v2m

C:-7(9,20)

D:-F(n9)

Correct Answer:- Option-A
Question97:-x,x,...x, 2R3} 1, FT0VFN® DSTF0IE) i1d $DOIRI® M, 5=X1+Xs+.. +X,, n=75
sSNQT s-325 © IO

A:-P(2)

B:-N(75, 150)

C:-N (150, 150)

D:-N (0,1)

Correct Answer:- Option-D
Question98:-#qo=4 afogi URB030NG T m%sz)dow S0d5¢ 0> FYBNY F0sk

A:-1
B:-3
C:-2
D:-4
Correct Answer:- Option-B
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Correct Answer:- Option-A
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Correct Answer:- Option-C



